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STATISTICS

Paper : STAO0100104
( Descriptive Statistics and Probability-1I}
Full Marks : 45
Time : Two hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : 1x5=5
O PPTRI Teg fral ¢

(@) Which of the following. is used as a
'~ summary measure for a sample ?

TS TERS (I aifomiy e st
fepicsl T =1 =t
(i) Population parameter

TR eliba

(ii) Sample statistic

ol afemis
Contd.



()

(iii) Population mean
RS g

(iv)] None of the above

QT OIS TTT

A quantitative scale where there is a
true zero and equal interval between
neighbouring points is termed as

<6 2ARANS TeAw, TS = 7] SoifefS A
9I0S 70! AT R wiers s &g 2,

() Ordinal scale
FAALEES e

(i) Nominal scale
AP e

- (iii) Interval scale

TR Aot

(iv) Ratio scale
SRS iof
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Which of the following options is the
true example of primary data ?

oS TERS (S [Rew U vAR age
Tl ?

(i) Journal / N «ifdH
(i) Book / &%

(i) Census / Pr=

(iv) Newspaper / IR FiFe

Which of the following measures is not
influenced by extreme values ?

TS SERS (0! W9 5 WS [} 2SiHe
DETIRS .

(i) Arithmetic Mean
TR W

(i) Geometric Mean
NS gy

(iii) Median
L

(iv) None of the above
8] o8 7T
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(e) Two different dice are rolled together.

What is the probability that the sum of
the numbers on the two dice is 5 ?

it 57 7% of Fewst vt 21 | 5w w5 wsive
A IR PR @oTT 5 (R TSRl 7'

0 3
@ %
@ %
(iv) None of the above
8T oI FTF
gsessx:iggsczmy Sfive from the fol;?(;v:ir;g

(@) What are the different scales of

Eeas;:.rements of statistical data ?
which of these measurements

;nna:jtl'l;_m_ajcical operations multiplication
Vision can be carried out ?

- AR @147 Rfen MomE & Fe @3

mmmmwwm‘m‘ s
I TR IR AR o N
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(b)

(c)

(d)

(e}

Distinguish between variables and

attributes.

5o SIS (ISR e ey fra

Write four sources of secondary data.

e ©UR 515 B fordl

Distinguish between bar diagram and
histogram.

e i FEbaR e oAy B

Distinguish between ‘inclusive’ and
‘exclusive’ types of class intervals. How
are ‘class boundaries’ calculated from

‘class limits’? _
G TG IETT (T T e A
fRral | Y T o/ @M sifm R Ao
T AR?

Show that the algebraic sum of
deviations of a set of values from their

- arithmetic mean is zero.

e @ PRI Tiee iRl okl PrRes
Mg REFHERR T =57 |
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(9)

(h)

Distance
(in kms)
7N (km)

Ffequency :

5wl

Find the median from the following
frequency distribution :

OoTS Nl RIS 3BT siat g el T S

x:12 3 45
f:28107 3

Find the standard deviation of the first
‘n’ natural numbers,

AN ‘0T TS MR N o Tl 91|

A tyre manufacturing company kept a
record of the distance covered before a
tyre needed to be replaced. The table
shows the results of 1000 cases :

9Bl ‘DA TS T T <% SrmR ME
IR WIS WSy 91 1ee vy Feerg I

AR | SR AR CorREl 100051 AT

T (TYRIRR ¢
Lessthan 5000t0 10,001 to  More
5000 10,000 15000  than 15,000
S000%F 50003 100013 15,000
T ORI0000 WI5000 @ @B
40 190 300 470

1 (Sem-1) STA/G 6

0)

1 (Sem-1) STA/G 7

If a tyre is bought from this company,
what is the probability that

T 51 BT € T AR «F1 }el =7, (o
R iR A 3=

(i) it will last more than 10,000km.
(IR0 10,000km OF GRS bFR |

(i) it has to be 'replaced between
5,000km and 15,000km. -

(i3T81 5,000km =% 15,000km
ErS el FRI A |

Consider the p.m.f.
Teifel ©1 FEmco! Reasal F41 8

x
= = l, 2, 3, 4, 5
pl)=1gi x

Find (Ffa 1) :

) P{X=1 or (W) 2}

(i) P{% <X<3/[x > 1}
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3. Answer any four from the following
questions : 5x4=20

SR R Rz 5ifv B R ¢

(@) Write a brief note on the scale of
.measurements of statistical data.

ARR ©am g Mot R o
5 (B o | :

(b) Write.a brief note on merits and
: demerits of Primary data.

%ﬁﬂﬁ@"wmem a6 53 (ot
[

(0 Ina stud A '
y of blood groups of 1000
;'nﬁles. and 1000 females in a city, the
Ollowing data were obtained :

A IR 1000 sf558 w1 1000 WA O
&%ﬂﬁﬂﬁmW@qm ot T 3
H~

-M Male Female
m &9 R EGll
A 150 140
B 300 280
O 450 500
A | 100 80
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Represent the total blood group
distribution with the help of a
Pie diagram. '

@f i3 Bes TRACS AT (O 517 ITAC!
AR w201

Calculate ‘less than’ and ‘more than’
cumulative frequencies against
appropriate boundaries from the
following data :

TEF ARG T 211 ©fpe «ifkaes Recs oo
I T OOl e AL IS Siel
B
Weight of insects
{in gms) 21-30  31-40  41-50 51-60
AOR G5 (1)
- Number of insects 15 25 40 60
B T
Weight of insects 61-70  71-80
(in gms.)
#9e1} 65 (819)
Number of insects 20 10
AT A
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(¢) Find median and mode from the
following frequency distribution :

TS Al AT IBR ~1a] TG Wi TS
e 1

Class Interval :  0-10 10-20 20—30 30-50 50-70
@ o

Frequency 2 8 10 14
WA |

() The probability. density function of a
- continuous random variable X is given

by
o LR E e L - S —
za

f(x):{kx’z(l_?cs) 7 O<x<1

0 ; €lsewhere (S

where k is a constant

Ie k'-ﬂﬁ&ﬁﬁﬁﬂ
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(g)

(h)

Find the value of k. Using this value of
k, find the mean and variance of X.

| 1+2+2=5
ko T TN e 791 | % T IRER R G O
ogd e+

Give the axiomatic definition of
probability function.

If A and B are any two events, then
show that

Teiffel et wikwl |

I A I B Reaie 961 964l, (908 (sl
e

P(AUB)=P(A)+P(B)-P(ANB)
. 2+3=5

There are two bags A and B. A contains
‘n’ white and 2 black balls and ‘B
contains 2 white and ‘"’ black balls.
One of the bags is selected at random
and two balls are drawn from it. If both
the balls drawn are white, what is the
probability that bag A is selected?

If this probability is £, find the value
of n. 3+2=5
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ASIF B ([ 1 AT ‘0’51 390 =i 2 &l
3 IR AE BS Yo 390 WiF ‘'Sl e I
SRl 93 (@ Tfoeir Fdibe sk R
7RI WB! 341 Pl ey 391 2 | AR It
RS T 1N W (0% A G e
@RI it fFam e

W @R TRl 2 76, cors w3 WA R
=1

Answer any one from the following

questions :

10x1=10

wmwﬁmam%@%m

(b)

- (@) Write a detailed note on tabulation of

data mentioning its types, rules and
precautions for tabulation.

2R, e s e St R wa
RTRR ¢S «ff R Rt fBra |

In a study to test the effectiveness of a
new variety of manure, experiment was
performed in 50 fields and the following

results of yield per hectare (in quintals)
were obtained :
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afiy wga eEifes AR ASR T Qﬁ.
TS 5099 (P9 df® (IR GeAME
(POTO) FEPTR TS CAIRI oT'& 3
Yield . 90-% 95-29 30-3¢ | 35-39
B -
12
Number of fields : 2 3 8.
Y
Yield . 40-44 45-49 50-54 55-59
B '
' 2
Number of fields 16 5 2
| R
i
Find (R #9) :

(i) the mean
W&y

(i) the variance
R

(i) the 1st quartile
e 5P |
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(iv) the 6th decile.
W IO

(v)] the 75th percentile
7597 *OEE

A, B and. C play a game and the
chances of winnit_lg it in an attempt

21 1
are 3,5 and ¢ respectively. A has the

first chance, followed ‘by B and then by
C: The cycle is repeated til] one of them
wins the game. Find their respective
chances of winning the game

A, BUI C (8 @01 (39 (30 1 qff eigprs
OEERT TR (RRR ISl ey 2

21 ]
33 I 4 AR <o 2 qRe) #i w
%Bmwmﬁ%cmﬂmcﬂﬁmé

GG T 2| (DA AMOBR (ATITS
wﬁmmﬁcﬁwwa
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{d) Two dice are rolled. Let X denotes the

random variable which counts the total

number of points on the upturned
faces. Construct a table giving the non-
zero values of the probability mass
function. Also find the distribution

function of X.
7 pefs Frws 3 Ta1 @I IHE 5o
A @ e YO ©vITS SRl MU @oiwe

5131 | TSIl T TR L MR €3
A=A o | SR X3 Rowd wom Fefa
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